

Ref: FOI/GS/ID 4745

Please reply to:

FOI Administrator Trust Management Maidstone Hospital Hermitage Lane Maidstone Kent ME16 9QQ

Email: mtw-tr.foiadmin@nhs.net

19 June 2018

## Freedom of Information Act 2000

I am writing in response to your request for information made under the Freedom of Information Act 2000 in relation to Catheters.

## You asked:

Could you please run a procurement report that tells me the following:

- 1. How many catheters where purchased for your electrophysiology department in 2017 under the product heading sheaths/introducers
- 2. How many catheters where purchased for your electrophysiology department in 2017 under the product heading diagnostic -
- 3. How many catheters where purchased for your electrophysiology department in 2017 under the product heading ablation -
- 4. How many sets of 3D mapping patches where purchased for your electrophysiology department in 2017 -
- 5. How many cardiac cryoablation balloon catheters where purchased in 2017

If you hold more detailed data could you please tell me the following:

- 1. Of the diagnostic catheters purchased in 2017, how many fell under the category steerable
- 2. Of the diagnostic catheters purchased in 2017, how many fell under the category fixed
- 3. Of the ablation catheters purchased in 2017, how many fell under the category of irrigated
- 4. Of the ablation catheters purchased in 2017, how many fell under the category dry tip

Trust response:

Please see the following table.

Eclass Description	Product Code	Items in Box	Boxes Ordered	Items Ordered
ANGIOPLASTY BALLOON CATHETER	AI-07125	5	45	225
	DRCM2208HSW	1	1	1
	NCSP2509X	1	10	10
	NCSP2512X	1	14	14
	NCSP27509X	1	13	13
	NCSP27512X	1	2	2
	NCSP27515X	1	2	2
	NCSP3009X	1	38	38
	NCSP3012X	1	37	37
	NCSP32509X	1	17	17
	NCSP3509X	1	47	47
	NCSP3512X	1	23	23
	NCSP37509X	1	2	2
	NCSP4009X	1	8	8
	NCSP4012X	1	2	2
	NCSP4015X	1	2	2
ANGIOPLASTY BALLOON CATHETER Total			263	443
CARDIAC ABLATION CATHETER	M004EPT5031THK20	1	4	4
	M004EPTP4500THK2	0	4	0
	M004EPTP4500THK20	1	14	14
CARDIAC ABLATION CATHETER Total			22	18
CATHETER - ARTERIAL	401306	1	10	10
	401443	1	171	171
	401860	1	69	69
	401915	1	81	81
	401972	1	98	98
	401982	1	206	206
	LA6EBU35SH	1	31	31
	LA6EBU40SH	1	2	2
	LA6JL35	1	35	35

Chairman: David Highton Chief Executive: Miles Scott

Trust Headquarters: Maidstone Hospital, Hermitage Lane, Maidstone, Kent ME16 9QQ

Telephone: 01622 729000 / 01892 823535

	LA6JL35SH	1	5	5
	LA6JL40SH	1	1	1
	LA6JR40SH	1	12	12
	M0043541	50	4	200
CATHETER - ARTERIAL Total			725	921
CATHETER - CENTRAL VENOUS	0600600CE	1	1	1
CATHETER - CENTRAL VENOUS Total			1	1
CATHETER - INTRODUCERS	407847	10	14	140
	407849	10	13	130
	504-606T	5	2	10
CATHETER - INTRODUCERS Total			29	280
CATHETER - VASCULAR	534-546T	5	20	100
	G1452006B	1	12	12
	H74908526222	5	1	5
	H74908641012	5	29	145
	H74908641022	5	177	885
	H749086411002	5	1	5
	H749086411172	5	7	35
	H749086411212	5	1	5
	H749086411902	5	2	10
	H749086411952	5	3	15
	H749086412012	5	2	10
	H74908641212	5	133	665
	H74908641222	5	60	300
	H74908641242	5	7	35
	H74908641252	5	1	5
	H749086413012	15	35	525
	H74908641412	5	56	280
	H74908641502	5	17	85
	H74908641842	5	2	10
	H74908641862	5	2	10
	H74908641892	5	3	15
	H74908641962	5	6	30
	H74916391022	5	29	145

H74916391212	5	39	:
H74916391962	5	2	
H74916391982	5	1	
H74916599402	5	3	
LA6MP2	1	3	
		654	3
85900PST	1	1	
		1	
F810257	1	3	
		3	
1245S14UK	5	1	
Urinary Catheter Self retaining - Medium term Total		1	
	1	1699	
	H74916391962 H74916391982 H74916599402 LA6MP2 85900PST F810257	H74916391962 5 H74916391982 5 H74916599402 5 LA6MP2 1  85900PST 1  F810257 1  1245S14UK 5	H74916391962 5 2 H74916391982 5 1 H74916599402 5 3 LA6MP2 1 3